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In order not to crowd the beams — WP IPRTOD RDT 27 9D

OVERVIEW
The x) asked why did the mYy need to be five mnx long; they could have been

only four and a half mnX. The &%) answered they were five nmX in order not to
crowd the ow1p. There is a dispute between *"w1 and N1v01N how to interpret this
N2,

- 22079 Y 19109 NN BN 17Y Y

>'"'w9 explained, ‘if you will arrange the 2w p by placing them on their width’
they would crowd each other if the M3y were four and a half nnx.

MooIN asks on "wND:
= 31NN DY NINT 9OYY PION NNT DYDY

And there is a difficulty with >"w79, for the X7 concluded previously that he
set them down on their narrow thickness, so there was ample space.

mooin offers his interpretation:
=[50 733 90 )V TADS] 40OV YPNTD NIT WI9D NI NIN

Rather it is preferable to explain as follows; in order the 2°w9p do not crowd

the rings which were opposite and corresponding one to the other —
—[V7NIZ) )Y T U979 SYAUN DV 197/7)]

And the "pauR, which are explained to be @' Y23, were also there —

mMooIN anticipates a difficulty:
— YAV K¥NI YAINA 197 917 2) DY 9N

Ix97:7"72.
2 Each w1p was 11/2 nmR wide; three 2w p would be 41/2 nnx; that would be crowding the wAp.
3 See x,nx. The w1 p were placed on their thickness which was one 7nx, three (or even four) 2w p can fit
comfortably in 41/2 NX.
4 The n"27 nan amends this to read, 757 577 3R WRISA 37 WIODTS WAVR 2W 7Y W TS W YW Mwawd owp
n"n v3m paa8a (instead of W'RWA W WADRTS WIVR W 1T T TAID T PIW MIPALY XM YIIND 700 077 MUK DUp
n"n). We have inserted this X071 in [bracketed italics] and translated accordingly.
5 This refers to the upper and lower rings into which the 0’12 were inserted. (See previous 012 7"7 2,7¥ '01N).
¢ The four ow"p were laid down on the 7793y (on their thickness) in two sets of two, back to back (with the myav on
both outsides of each set), so the myav of the inner 2w of the two sets faced each other. If they would collide into
each other they would be bent out of shape.
7' See MK 7"7 2,n¥ "w1 who writes 1"¥92 1"w173 X3M. [For those with an interest in particle physics, a ‘gluon’ is the
force which holds (glues) together the three quarks in protons and neutrons.] Presumably the *vavk may have taken
up additional space on the 773v. See ‘Thinking it over’.
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Even though that for the rings (and the *vauX) four and a half nX would be
sufficient -

— (W"RYO YT WADIATS ALK DW 1M T TS T )
$PPPINY 50719352 HYTH AT WIYW KD ONX NIY DT PPMT 052390W1 1729 5191 01PN Yan

Nevertheless, because of their heaviness, the o°wp shift about and crowd each
other unless there is a large separation between them; and (m»01n concludes)
this explanation is wanting.

SUMMARY

The reason four and a half nnX was insufficient is because of the concern that the
owp (because of their weight) may shift and press against the Nwwav and compress
them.

THINKING IT OVER

It would seem that the "w"X173' of nvOIN and the '1"X173" of »"wA are the same.’
However it seems from Mmoo previously!® that maoIn does not interpret *yawx to
mean 7"X173 (or W"X173), so why does no0n cite this interpretation here?

8 The "2 M and the X"w7n amend this to read pm7y o2 (instead of 1P o2
% See footnote # 7.
10 See vyaur 7"7 X,0¥ '0IN.
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